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) yna !
Which is the Stale capital of Haory:

(1 Bhiwani
(2 Panipat
(1 Sompatl
(4)  Chandigarh

(5 Not attempted

Nar Narayana cave is situated in which Eintea

of Harvana 7

(1) Sonipat

{2} Yamunanagnr
(3) Kurukshetra
(41 Bhiwani

(6 Not attempted

During rainy season, which river becomes the
of floeds in Ambala  and
Kurukshetra districts of the State ?

MEJAT  cause

(1} Hakra River

(20 Murkanda River
131 Rakshi River
(4} Tangri liver
(5 Not attempred

Which State lies to the South-West of Haryana ?

(11 Hajosthan

(2)  Uttar Pradesh
(37 Punjab

(4 Uttarakhand
(51

?«Ihn. attempled

Decnbandhu Chhotu Ram Power Plant is located
in the district of

(1) Hisar

12} Yamung nagnar
(3) Sirsa

(4} Panipat
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HTEET 2y W%Tfa &+ qu; w1 9 2 G. Who is the founder of Bhakra Dam Project 7
(1) <= g — (1) Choudhary Chhotu Ram
@ <l < e (2)  Choudhary Bansi Lal
(3) gl oy fém el (1) Choudhary Ranbir Singh Hoada
(4)  =Ngd} yaq e ) (4) Choudhary Bhajan Lal
(5) I 7 2y s (5) Not attempted
O Hrf SR Rp— 5|7 The Third Battle of Panipat took place between
= e | R the Maratha rulers and
(1) 7z e NESIE {1y Ahmad Shah Abdali
@ W {2) Babur
(3) Hemu
(3) %TL (4) Mohammad Ghori .
(4) drEme i () Not attempted
(5) I & 7N ==
B. In the Mahabharata, Haryana has been called
HErad W RiEmm = FETATR | .
(1) wfam (1) Haridham
(2) Fhuam (2)  Krishidham
(3 W“/ {3) Bahudhanyaka
@) s (4)  Jova Sambhita
T P (5) Not attempted
sfear 6 qresaties O 9. ?;:: a PﬁnrgnUFﬂrgﬂ] in the traditional attire
"ana ;
) Rrgait 6 w5, - (1) Infant’s shirt
@ “f" (21 Shirt
(3) =1 w12y (3) Children's cap
(4) Fereml 3t (4)  Fulkari odhani
(5) 3w 7 T |y (6) Not attempted
mﬁ;:;h%mﬁzﬁ;r;n :1: qf‘gwaﬁm 1w it | 10 i::-:l::::m";t:‘: }i‘j:::;g ;ﬂhﬂ htrlndi!:icmul L‘I?Sf.l]l.'ﬂf‘
(1) e=ha ﬁlTFIT 27 at the time u['mnr;-iﬂgel? i T,
@ g (1) Lahariya
3 A (2) Dimach
() Wi (3) Gumati
(B) 3 T 3 S (4) Mandiya
;—-a;:-;-_.__ {F) Not attempted
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1. Fsafafia @ & o000 § i 343 QEATE F0A 1L Wil among the following was the Theme State
foren tem, wliararg an oy e AR @Y n the 34" Surajkund Tnternational Crafts Mela
ot i (20200, Faridabad ?

B e (1) Himachal Pradesh
@ IR (2) " Rajasthan
Iy (3 Uttar Pradesh
B) T A E 4)  Punjab

(5 Not attempted

12. v ofm dm, ‘gl $fzap ois fafaw
T (HICA) 1 e xharer 8 0 T @ 12. Where in Haryana is the flying training centre,
% “Haryann Institute of Civil Aviation” (HICA) set
5 up ?

:;: E;':: (1) Gurugram
& ot {2} Pinjore
B R (3)  Bhiwani
& 3w e {4} Rohtak
(5)  Not attempted
13. ;‘I’-‘::Tm # faerd wfaz f&am fam &4 7 HE99 wgh (13, Harvinder Singh, u fportsperson from Haryana,
5 belongs to which sport 7
(1 yfm — (1) Shonting
(2) fe=mw (2)  Disecus Throw
(3) 7 (31 Hockey
(4) = . (4} Archery
(5) I =# &M =mEd 15)  Not attempted

14. ﬁm ‘IFFI E-?, B & wgi fegm o 14. Where is the Chinkarg Breeding Center located

(1) WG, Jaa in Haryang ? '
(2)  dE, FEeE (1) Morni, Panchkula
(3) Temn (2)  Pipli, Kurukshetra
(4) %=, fimr (3} Hisar

(5) I A &1 =TEA 4} Kairu, Bhiwanj
" . (B} Not attempted

15. #fmmm § f&a ad =1 “aif: " aifgm faen
o kﬁn&rﬁ ﬁﬂ‘l 4 15. ‘:\r'hith Year was declared as the “Gir) Child Year”
B 2006 :jl‘ln;;;;n ?

(2) 2014 - (2) 2014
@ 2016 v (3) 2016
(4) 1894 (4] 1994
(5) It 781 &= = vE (5} Not attempted
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- GIEEE 'HTHUT " r ¥ 1 Ty om £ " 4
16 Rrdt Ty ﬁl_r'g?la‘l ‘;?"‘ i'“—’”f-' ‘{'1‘ """‘F‘fl_. KL R, |16. When was the Jatayu  Conservation Breeding
g1 7 - h T %2 (VCC) & &9 1 AT Contre (JCBC) carlier known as the Vyliyre
. Care Centre (VCC), established ?
9
(4, 2002 (1) 2001
(2 2011 (2) 2011
(3 2007 (3) 2007
(4) 2016 (4) 2016
(5) I # 21 =Ry (5) Not attempted
17, B8 2§ g fum aw R W A e |17 [0 which year was the number of seats in the
=arE 90 foay 2 Haryvana Vidhan Sabha increased to 90 7
(1) 2008 (1) 2008
(2) 1966 (2) 19G6
@) 1977 (3) 1977
(4) 2001 (4) 2001
(5) I T T - () Not attempted
18. WIAAS TN & Ie9m | g = w1 fmaa um 18. Haryana State is I:“\:idi‘d into how many
Hater man & 2 ' divisions for administrative revenue purposes 7
1 3 e
(2) 8
(2) B a8 5
@ & v 4) 6
4) 6 (5) Not attempted
(5) IR AH 2T 9T
19. The Mahabharata war took place in which region
19. WaTITE o 4@ et & o & f gan @ 7 of Haryana ?
(1) F#eE (1) Kurukshetra
s ¥ =
(2) 9T {(2) Panipat
3y  Hisar
(3) femm [ =
(4) Jhajjar
) s . {57 Not attempted
(5) I TE T =vEd
- . |20. As per the Census of India 2011, Haryana is the
20. i SR 2011 F @EER, FEEE F = = largest state of India i ;
of India in terms of
Hammyma w0 wEREGI TR population.
(1) sEREEl | — (1) eighteenth
(2) dggal (2) fifteenth
(3) mneEal (3) eleventh
(4) =mat (4) tenth
() I A I A (5) Not attempted
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. 21.  The meaning of the Harvanvi ;
N 3 oorn® ad R : ‘ » I proverh, “Tawla g
21, wfEE) Sy Smaen # Eﬂ‘”-:;f i 1 Bawla" (AT # 71@=71) is 26
(1) =] @m 7 &)y B A (1) Selfish people do not care for others,
a9 " AR 2 1 : : H
[;: SRLLE 3‘:2;"1:‘3? v['ﬂ . & et W (2)  The hasty person’s discretion becomeg zero,
{ Rk thi I (3)  Doing an unimportant work in the a},
] | e
_ e s - of an important work.
(4)  ar=ard 6 qe i aud e @ e B
(5) Sy "m ¥ (4)  Evil spreads faster than good.
5) I _
(5)  Not attempted
20, figeme) 3 Tpwsd @A 2018 3 . .
2. Foafafe % & fem fa 4 22, Which of the following sportspersons won the
Tl o W ges oftm 2 bronze medal in Wrestling in the Commonwealth
(2) A (1) Vinesh Phogat a7.
(3) = wmE < (2} Yogeshwar Dutt
(4)  ifsw 7z (31 Babita Phogat
(5) KLt "ﬁﬁ: i;n a-m't:,i {4\ Gl'*f‘!ik'rl Jﬁ.k_l_'lﬂf |
. ~ L (5)  Not attempted
2. s & il e ol @ ot gl OO |
L . wong the following players from Harvana (.
2020 Y=gy § = ? £ vana,
e T e who wen the gold medal in Tokve 2020 i
(1) 3 wm e Paralympics ? ) .
(2) i (1) Ravi Kumar Dahiya 28. F
(3) =l nfew (2)  Sunita Sharma fo
(4) T sifm |~ (3)  Sakshi Malik He
(5) 37 9 29 9we (4)  Sumit Antil (1)
= (5)  Not ntt :
24. #@m 4 wom w wf) & oy fem =fE w1 wem ctattempted
= 7 24.  Who was the first person to be bestowed with the o
(1) =3 3z T title of the State Poet in Haryana ? (
(2)  ur vz (1) Kavi Chand Bardai %
(3) IWYHFE (2) Bhai Parmanand J#
(4) o I T (3) Uday Bhanu Hans (F)
= ]
(5) IAT AR Z WA (4)  Shri Khushi Ram Sharma
) (5)  Not attempted 9. Choo:
26, Al @1 WU TAG ‘A ) mmem few w9 H w0 mean
25. The ve Ty .
g ry first verse of the Gita  describes “Hist
2 . ‘Kurukshetra' ns 1ot
(1) FgEH m v dhkml " (1) s
(2) wihdE udhkshetra (place of war) )
) ' (2)  Dharmkshetra (place of righteoys : 2) 1
- STEs:
(3) ferama @ Shikshakshetra (place of joae e . @) st
(4) TE 4) Ra carming) (4
. . nkshetra (pluce of batle) b fa
(5) Jew FE T < (5)_Not attempted (5) N
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Choose : Y i

heoose the correct alternative to improve the
’ the
Improvement 1s required, your answer is (4)

underlined part of sentenee,  |f
i no

In this je g 15 1

his jet age, everyone is interested in having
an easy life, :
e

(1Y had easy life

(2} for have an easy life
(3)  to having easily life
(4) Noimprovement “~
(8) Not attempted

Fill in the blank with the suituble preposition.

He boasted his riches.

(1) of (7
(2) with

(3) about

(4) at

(5) Not attempted

Find out the correct indirect speech form of the
following sentence. :

He said to her, “You cannot see the chairman.”
(1) He told her that he cannot see the

chairman.

(2) He told her that you could. not see the

chairman.
She was refused to see the chairman.

(3)

[$ He told her that she could not see the
chairman.

(5) Not attempted

Choose the word which is opposite in the
meaning of the underlined word :
tances of cournge.”

32,

34.

30,

31.

GET IT ON
Google Play

Pick out the correctly spelt word.

(1) immaculate "
(2} inmnculate

(1 immacculate
(47  imaculate

() Not attempted

Pick out the wrongly spelt word.

{1) preference ¥
(2} difference >
(1) performence v
(4) reference

(5) Not attempted

Pick out the antonym of the underlined word in
the following skntence.

I saw her sitting motionless in her chair and
gazing at the door.

(1) lazily

bending l-//

(2)
(3) negatively 5
(4) lively

(5) Not attempted

Pick out the synonym of the underlined word in
the following sentence.

[ eannot rest from travel; T will drink life to the

lees.

(1} encourage

(2) giveup
(3) accept

(4) jein

(5) Not attempted

Fill in the blank with the suitable alternative.

He wanted in the pool.

to swimming

“History abounds in ins
(1)  suffices () .
@ lacks~ (2) swim
ac e Rl
(3) toswim
@)  shines (4) toswims
(4) failures (5) Not attempted
P —— p—— R Al 1 SPACE FOR ROUGH WORK
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5 pASSET consisting of | Read  the follawing  passag and answer fquestions
is quoesti il
35- {f:l lhlq qu.l .qtlur'l'l:tlhlﬁrHl "nd tl-“\- H‘l!th hlllll(‘r]l rs .'H' ‘f!:} n"d Ff'r.j,,
81X sentences. The D

. abelled a5 5y ard . 1'n , T
are given in the beginning and e —— ]h"l'n‘l.' IT 1 had been asked in my early youth whether |
. . 1 v four sentences
Sg respectively. The middle fo

QR preferred to have dealings only with men or only with
JHE s s & . . & i
been jumbled up. These are lahelled d [ "|books, my answer would certainly have been in favoyr
» or lor . iy " N TR .
S. You are required to find the proper or ul books. In later yoars this has become IE"'jh and llf‘h.
v - ericnces w
the four sentences., Not that | have had so much better pxpericnees with

S i d men than with books. On the contrary delightful books

B e v f © way more often than purely

S a8 touch anything. EVED now come my way . el

i e delightful men. But the many bad experiences with
fP.  The room was neat nnd clean.

men have nourished the meadow of my life as the
noblest baok could not do.

38,

Q. Then he stepped into the room.
(AR.  He waited for a minute or two.

Which one of the following statements best
S, Itopened easily and he peeped in. reflects the main arpument of the passage 7
(1) QSPR (1) There are more purely delightful men than
(2) RPQS purely delightful books, =
13) SPRQ (2) Tt is the experience with other human
(4) PQRS beings ll‘ml nourishes  one's life and not
(5)  Not attempted necessarily books,
{3} Neither men nor books give any worthwhile
36. Chms? the correct active voice form of the experience.
following sentence ; (4)  Books are always better thag menﬁrﬂ
Sharan was being Laught hy Anil. (5) Nol attempted
(1) Anil was teaching Sharan. L— . g -
. ) . L ¥ | ; i
(2)  Aniljs teaching Sharan. . aut U,r ,sn!'q that in later years his love of
(3 Acil had taught S} books diminished because
: 1
, i 8 ; arﬂ.n. (1) he had better experiences with men than
(4) Sharan is teaching Anil, with hooks, o>
(5)  Not altempted 12)  he had given up the hahit of reading books.
37.  Pick oul the part of the sentence which has an (3} even the bad experiences he had with men
error. IT there s g error, vour answer is (4). were more valuable than what the noblest
Some men are born great, books could Eive.
A e (4V he did not get many delightful books tg
e achieve t read,
som atn
?——-—ﬂnﬂ (5} Not attempted
some had greatness thrust upon them, 40.  Which one of the pairs ur.phrmies IH?-‘HI helps tq
- bring out the metaphorical meaning of the
C ‘meadow of my life’ 7
(n C e (1) Vast and rich life
(2) A (2)  Well-nourished but dull lifé
(3) B (3) Poor but simple ]if'l.:! ;/!
! (4} Pure and healthy life
(4) Noerror
(5) Not attempted
(5) Not attempted
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w1 7 )i

(1)
(2)
(3)
(4)

(B)

il

=

0 AR AT qrEm @ b 7 - wwa g

ul 3 g, “dren e 2 90" drE R
A e e ! - et faa
9RIE] WAt e ol R | - i fae

ERtE LS o

fayrad sm

¥t yAge H g4l G Anaz w0 Ave 1
I FreR-dfal qwm R

(1

(2)
{(3)
(4)

16)

TR TR F
afeiteh e &
Uk AAGN &
ma:ﬁa:{ﬂmm\/
Fee i &A1 =TEd

4. ‘gﬁurr’mﬁﬁfﬁ%:

(1)
(2)
(3)
4
(5)

g 3qef |
el @
g 3wl @
g 39w &
I T A1 <Ed

(1)
(2)
(3)
(4)

g +A=IFE 7
q( + 9 =W

T + 377 = 91
q + 34 =T

| C"‘fF‘age 9

45.

48.

47.

48.
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St e e fafam & v p
(1) afras fan-fagm ‘

(9)  ward e fammm

(3) W faan-fagrmn

(41 54 fram-Fegmm

(5) e A & e

Sra 7w Aren, fEs g dits @ st S

R 7

(1 T & vl = few sfem v @ g s
g B

(2) ¥ 9= T AE T 2

(3) oM @i ae fr@g 3

(4)  Sirerii AR ) A e 3z

(F) I TE &1 =TEd

T ez Awen TEI R 7
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49, ﬁ?mﬁmﬁﬁmﬁgﬁmﬂf:??

(1) wEFEl

50. = 13z § adm fawey awm 29

(11 ﬁ."ﬁ:m

FT + T2 = WA=

(3) RFE.,.;;Fq-m—_[:mV
(4) W 4+ $an = ey
(5) 30 1 9red

51. ‘s

——— ¥ AT 9 By | 9 & o

mmmmwmﬂﬁmmﬁamm
g )

1) #m L/'
(2) 3y
(3) fEn
(4) T
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Google Play

52. ‘a7 vz o WATEE WE AT R
(1) |
(21 TR AT
(3 fm
(4) fomg
(5) ITR FEI &9 =EA

53. ‘Sfugw w= & o 3fem A = wmm B |
(1) |9ENl 1 F16F% ¥ =0

(2) T H FZATEW

TR § gufer quemd
W%Wmaﬁmﬁmmm
T T 3 e

(3)
ol

(5)

54. ﬁﬁrﬁrrﬁaaﬁmﬁamﬂ‘n?w’mmwmﬁm

¥ e R 9

) 30 wf — srmpfagg -
@ fer Py wy -
LONEE = e S

(4) ﬁﬁaﬂ'{mﬂ HE‘:‘?

(3) mﬁmmﬁ

55. ‘Gﬁﬁﬂﬁmm

%ﬁ?ﬁm%‘ﬁﬂﬂ"&ﬂ
Hfmy |

1) iwm x

2) g _—
(3) v A

(4) ey

T SEws R ) ams
ﬁqﬁﬁ@ﬂﬁ:mw

(6) I e 21 wmed

AMRAJC4/Page 10
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T ‘A" - h, a -
g TECA'H SEH arell uw eqefly ww A ufeensi &

7.

v

I S?WT i HEen A ) 8 w@ 2 B W
7 wftemd st & st 1y qen @d o Han wi ¥ | o
ffﬂfi 3 wfgensit # wew wvw B | e d an
fra arft waw g @ 9

(1) 54 \..~

(2) 18

(3) 45

(4) 36

() I AE & STHEA

3 R ™ W= & @il @ wdm FE T

o S I Y A

SEPARATE

(1) PARADE

(2) TREES

(3) TEARS

(4) ERASE

(5) e A 3 A
lm“’“‘*md‘ﬂ*ﬁ-ﬁmmt
I '3-”?" u.ﬂ‘ gl )5 &

GET IT ON
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B8. In a local bus which starts from city A' 4
number of women is twice of the number of T-.:-.I
In the next station ‘B, 7 women get down '”-'11
11 men enter the bus. Now the number of men
and women is equal. In the beginning how mans
passengers entered that bus ? '
(1) b4
(2) 18
(8) 4b6
(4) 36
(5) Not attempted

57. Find out the word which cannot be formed by
using the letters of the given word.

SEPARATE

(1) PARADE
(2) TREES
(3) TEARS
(4) ERASE
(5) Not attempted

58 Numbers and their letter-codes are given in the
following table :

. gIﬂ_m&r gilhs '] 2.] 8 | 5 |
| Let K|E|F | Y|P | _J

You lilwe to find out which option has the correct
form of the number group 8637.

1%@

Hahmmpted

l:l

a certain code language, TRAIN is coded 23
en how will DATE be coded in that
o
e
L
3
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G0,

61,

B62.

e

7

ffafir i 3 aYa.m 72 P 7

(1)
(2)
131
4

(5)

45:6

625:5

1D8: 4

42:4 7
I A F =T

UF wEh 3 pn0 w0 R dfE 3 wE, “ar
el #f ol % 9 i oEh R (7 S W I wgh

H 9] Hay & 7

(1}
(2)
(3)
(4)

(5]

R FE F An A e B & ) g

fam

=T
ke
L

I T Z

m“ﬁ*ﬁmﬁﬂmﬁa&mmmﬁﬁﬂu
Hifaw & A w & Samd fed fg o wad

H Faemfr £

FEH: Wi g2 Tt 8
Wi T frfai §
A fem g

sy -

(1)
(2)
(3)
(4)
(6)

W f e fafar 3 ¢
(I wﬁmr{egl o
() 59 Rt fra § ) L

% 113 11} ey &
ﬁ-‘ﬂalm‘nmﬁm_ﬁ o
%ﬂallﬁmg
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Find the odd one out,

(1) 48:6

(2) 625:56

(3) 105:9

(4) 42:4

(6) Not attempted

Pointing towards a girl, Ankit said, “This girl s
the wife of the grandson of my mother.”
Ankit related to the girl ?

(1)

[Tow is

Father

(2} Unele

(3} Son

(4)  Father-in-law

(6} Not attempted

Three statements are followed by three

conclusions. Take the statements 1o bo true even
if they seem to be at variance from the commonly
known facts. Decide which of the given

conclusions logically follow(s) from the given
statements,

Staternents : Al rats are cals,
All lions are cats,
All deer are lions,
Conelusions: (1) All deer are cats,
(I} Some deer ara pay.
(TN Some: cats gre deer,
(1} Only 11 and 111 follow
(2)  Only I and I1I follow
(3)  Only Il follows
(4)  Only I and II follow
(5)

_Not attempted

B 7
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T | (x) T
g (x)F AT = g9 63. What is the value of (x) in the serios ?
35, 46, 59, (x), 91, 110, 131 45, 46, 59, (x), 91, 110, 131
(1) 64 (1 64
(2 TAN—" (2) 74
(3 79 (£ T
(4) 84 (4) 84
© 3T e s =
) 64. Five boys arc sitting in a row. Ravi is not
& CIE] @56 UF Ul 0 32 1 & TFc'l_ Ef-ta'[ ¥ga] #HEA & adjncent to Suresh or Anil. Anubhav is not
frmeg adi 231 # | A, g & P 74 & adjacent to Suresh. Ravi is adjacent to Mohan.
2| fa, 9 & Fwery 491 2 | e ohE O we & Mohan is in the middle in the row. Anil is sitting
1 2| e e ofw sig H dE 20 A at the n;d on the rl{ght f-:ide.rT:e: I.;inuhhsf: is
- 3 3 sitling adjacent to whom out of the following ?
fafafaa § 8 feas Feera 9 - -
& sha;g ,?u.i'i' -3;‘5,'1315{:'"3# {1) Ravi
(1)
(2) Mohan
L o
(2) TR e % (3) Suresh
(3) ;frm// 7 o ST o 5,1‘;; (4)  Anil
@) = - ' (3) Not attempted
(5) I 2w 65. You are a Finance Minister of any country. There
. 3 : - A is recossion in the economy of that country. What
%, mﬁ%ﬂ%ﬁﬁqﬂ‘g | A = 3w best action would you take 7
ngt | 39 H-HT AEA FaH I ? (1) Try to get money from international
(1) - st it B A o e ) agencies.
(2) #m € yeaen # gfg FH_F o ar=dl (2) Implement good financial policies to
fefra et Mﬂ*ﬁ I enhance the economy of the country.
) S 5 o T i HrE | (3) F)iven: the mind of the public to other
\ jssues.
(4) 3+ 7m | 94 3uUl o &1 T Eﬁﬁ I (4) Try to borrow money from other countries.
(5) 3w 7l A1 =TEd (5) Not attempted
&, Frefafes g "{E?” @ Fa & foe 2 Ry 66. Select the missing numbers from the given
fermei 3 @ qH HEIET & w41 #Hifere | options that will complete the number series.
9 i q
0,2,6, 7, 20,30,42,_2 7290 0,26, 2. 20,30,42, 2, 72,90
() 18 3f 56 () 18and 50
12 and 56
(2) 19 (2)
(a) :;: il (3 18and 48
18 3ilt 48
2 and 48
© 123 (4) 12
" 48 (5) Not attempted -
) i
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67. Fasfirfern & firs w2 9 A0
(1 wfasn - M e

2y foaws —wa

(3 wfos - wwg G’.

(4) wzd _ 3m

(5 T T =1 wEd

68, a fawey w1 sfm o) dw w2 @ T WA aEf R

frm ww 7w wefin Ao B A
12:92::6:7
(1) 46

(2) 28

(3) 18 \//-

(51 IW Az ama

69. mfm'ﬂgﬁqﬁﬂﬁtuﬁﬁm:mnmﬁa%

meq;nqawﬁqa%wﬁﬁﬁ L
Mma : AMm : Ppr:?

(1) RPpy__- pPp

{2) Rpr

(3) RpP

4y Prp

(5) T 7 23 wmey
70. TR WO WA 5 gy

mmiﬁﬁ‘ﬁﬂﬁmmmmﬁ:

(1) 4.3.2,5,1¢

(2) 6,3,1,2,54

(3) 4,3,1,5,24 L//
(40 4.3.2,1,54

(5) I % e

ﬁﬁqhﬂ%mﬂﬂﬁﬁ

67.

68,

69,

GET IT ON
Google Play

Find the odd one out.
(1) Lyricist - Song
(2)  Farmer - Plough
(3)  Labourer - Spade
(4) Carpenter - Saw

(61 Not attempted

Select the option that is related to the third term

in the same way as the second term is related 1o
the first term.

12:72::6:7
(1) 46
(2) 28
(3) 1B
(4) 64

(5) Not attempted

Select the option that is related to the third term

in the same way as the second term is related to

the first term.

Mma.-AMm::Ppr:?

(1) RPp
(2) Rpr
(3) RpPp
(4) Prp

(5)  Not attempted

Select the combination of Numbers g that
the letters arrong

meaningful word :
DUOPI M
1 23 4 5 g

(1) 4,8,2,5,1,6

2) 6,3,1,25,4

3) 4,3,1,5,2,6

4y 4,3,2,1,6,5

(6) Not attempted

ed accordingly wij) form s
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1. N HRHT W oS qAme @ WA
=T A qEyn f;m T E R

forem & wif

(1) A& win wfwg

2)  Teamgw grgan

3 fomm gfefadm
(4) sAtn famm
(5) I TET g1 =R

n Tz 4N EETE wema: S9we FEE g
HIACTEA 1412 ITe2d wlam] ¢ il |

1) 7 A W g w8 e el W
wEaE §

FfeFsa fad a A §

7 g1 =i & fom 3fm #
4wl & fom glavres

T 7 2 =

{2)
3}
(4)

(5)

Brfafas 5 @ Fm Fad aiFm L & an

TEA R 7

0w =is § go =@ b, fd wE s FE
T b, st qr 3w ArgE a1 e T

Uk & v e (i at) & for o
w1 7 22y § e e avd ¢ )

Wiﬁamﬁweﬂrﬁﬂmﬁmﬁ
ke b X

7l

T2

73.

GET IT ON
Google Play

of the software that is used for

What ia the name
maintenance nnd configuration  of Computer
Systems 7

(1) General Purpose Software

() Device Driver

(3) System Utilities 1-«"/

(41  Operating System

(5) Not attempted

Virtual keyboards or Online keyboards are

commonly provided by Internet banking websites

because

[ (17 they allow users to type passwords securely

(2) they are faster than physical keyboards
{(3) they can easily fit an small screens

{4) they are convenient to the user

(3) Nol attempted

Which one of the following statement is nof

correct about Blockchain technalogy ?

(1) Each block has some data called its header,

which is visible to every other node.
(2) It is possible for a single member of the

network to make changes or alter data.

(3) Only the owner has nccess to the private

data of the block.
A block can be a secured chunk of data.

4 A
W 227 71 v gefive ggt B w1 R 4
(5) Not attempted
__._,_.—l'.
OR ROUGH WORK
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w22 & frmar (4 |74, Whag is the theme of World Habitay Day for th,
74. fava watam fram @ al 20 year 2022 7 -
" . - b *Mind The Gap : Legve :
w R L@ SR T (1 H"::::'idnhc ip ¢ Leave No One ang Place
(1) “sm oa WA
e 73 o . (2) *[':m-]l.lxsiw_- ’ Development, Sustainab),
- n‘-\ |n
‘-‘!} ";T:‘ri‘.lﬁ h.‘m. m Ia; it ( & ”pn]l
¥ 3 “Cle ahi g * Habitat”
(3) “==o ygEm, | iR LY “Clean Habitat, He 1lthy Habitat
e .- " (4) “Inclusive Devel t For All"”
-y it nclusive Development For All
: 5) y
T (5)  Not attempted
s : 32 352) & W90 H B4 |75, The enforcement of which of the followin
75, wErs o3 (e 3 Fund | Rich b 8
D = S ; "undamental Rights cannof be suspe ded w
w frfafgr & & fem qE ¥UER @ Feifam ; e _penced When
a Proclamation of Emergency (Article 352) i< in
3 a2
T R A AT operation ?
(1w & SfiEw (1) Right to Equality
(2) wB 3 e 7 (2)  Right to Freedom of Religion
(@) 2wt 1 afiww (3) Right to Personal Libertios
(4) THEEE A (4)  Right to Freedom of Expression
(5) T I TN 9eR (5)  Not attempted
76.  smiE i ey &Ed B 7 76. What is a reserved constituency ?
(1 EE[pCE faam FaT smfira s = (1) A conslituency in which only those politica
T F T wI AW AR o parties claiming to represent reserved
T Tz I categories can contest elections,
N e i (2) A constitueney in which only memb f
(2 fates. X . ) ‘mbers of 1
\:_Pd_y"ﬁl'l . L hfm e uw faus smida particular reserved category can stand fo
mmnﬁwﬁqﬁqg‘gﬁmﬁ I elections.
(3) v fragan Faif Tufaes wfiffe & @) A constituency in which elections are hol
ﬁ:[a‘i;l mwmﬁ m a‘[ﬁ ij I fﬂ][uwing I..]]E Priﬂ':i.plE‘S Dr p]‘opuniuna
(4) TTJ:“f . Eﬁ' = F= P = representation,
s Mo 5 N ! ”I_j'_” LS ) ' (4) A constituency in which the voter jis
" T F wenn i qm e © consists only of the memberg of & partieyls
(6) 37 3 T reserved category.
77, Faeh s . » - P, (5)  Not attempted
farl gm fonp #h f 3 =y § @&t |77 Whose teachings  and speeches  yor
T 2 posthumously written and compileq 1, b E
- followers in the form of Tripitaky 2 T
(1) wErdn 7
(1} Mahavir
(2) =R :
) (2)  Kabir
(3)  IEaE (3)  Shankaracharya
(4) 93 {(4) DBuddhg
(5) I TF & == (6] Not attempted
—— T
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7

AddaeM

R2,

_ : F aftd & T
W2 v g @ M AR -

W fem wen favy a am ww R
1y M=
(2} wuEwen

fafaen_

aqf

(3
(<4

(5)  Im =# & =l

83w, S s e (fefie)” W A frs
Tt § 7

¢ (W mE i v

43 anfds oy

Bl

I 78 241 =

(2)

14)
(5]

84, ﬂm@rmiﬁrmmﬁ%mmmaﬁm

Wﬂmaﬁa@:ﬁaﬁ@uﬁmwwm
L&
(1) sz
(2) T
(3)

(4)

B5.

(27 ¥F FEmE T AT % wpen @ |
L (3) TR arfufze wam 3wl i s b
¥ () T8 v e i a0 ween g g

(5) I T =red

83.

Hz.

{4)

GET IT ON
Google Play

Which art form derives its name from the
birthplace of the character Sita from (he famou,
epic Ramayana ?

(1) Gond

(2)  Mandola

(3) Mithila

(4) Vanshri

(6) Not attempted

‘Maharatnas’, ‘Navratnas' and ‘Miniratnas' are J

classification of in India.

(1) Public Sector Units

(2)  Mineral Rich Areas

(3)  Special Economic Zones

(4)  Civilian Honours

(5)  Not attempted

What is the name of the international

orgamzation which facility tes cross-horder police

tooperation to combat international crime ?
(1 INTERPOL
(2)  POLCRy

(3) SAFETYCOM
(4)  NATOD

(5)  Nat attempted

What i Anthracite ?

89,
(1)

It is a form of coal which ig
8o .

moisture content, R With high

(2)

It is the highest quality of |,
ard
(3) i

It is the most Popular
use,

e :
08l jn ““mme,-(.,- :
il

Itis a low grade brown coal
(5)
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. @ T R e v i o |
zﬁmiﬁﬁ'ﬂﬁ?@hwqﬁmmTaw
g TS & DThe @ e R
(1 2:3

2y 5:9
719
4y 1:3
(35) I TE &1 =1E

B %= & 9rg 500 fEm < R, e uw wm AR
8% MY G AAT & T IS 18% o 9 499 R | §¥
fiee § 39 14% @ T £ | 8% o W e m
?‘nﬁiﬁmmi!:

86, A man bought

GET IT ON
Google Play

poods worth ¥ 6,000 and sold half
of them at a gain of 10%. At what pain pereent
must he sell the remainder 8o as to get a gain of
925% on the whole 7

(1)
(2) 35°

(31 40%

(4) 25%

(5) Not attempted

a0%

Three equal cubes, are placed adjacently in a
row. Then the ratio of the total surface area of
the cuboid formed to the sum of the total surface

areas of the three cubes is :
(1) 2:3

(2) 5:9

{3 7:9

(4) 1:3 ‘

(5) Not attempted

A merchant has 500 kg of sugar, part of which he
sells at 8% profit and the rest he sells at 18%
profit. He gains 14% on the whole. The quantity

of sugar sold at 8% is :

(1) 220
) 220 ferm - 1) 220kg
IE; 200 fam (2) 200kg
H 180 fam (3) 180 ke

)
) 300 (4) 300 kg

) g ared (5) Not attempted

m. -

t 20,000 A W 2 91 # T 22,260:50 ¥lgg = 20,000 amounts to T 22,260-50 in 2 years at
Y, waf wr e St g R | = AT compound interest, compounded annually. The
b rate of interest is :
U 5ose (1) 525%
U by (2) 55%

e

e 3) 6%

' sy (4) 5%

f5)

mlh‘m Eo T E?l mﬁ (5) Not attempted B

:Tma““ L T e i for ¥4 | SPACE F-ﬁ’“;r’;ﬁ" WORK g7 /37
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90, "ﬁnjﬁh”vrt’-nb*h

(1)
(2)
L)
v
4)

(5)

91. lu.amiEMﬂﬁMi?-ﬂ-"-ﬁ-ﬂm 7|91,

13153
13831
2:1:1
1:1:2

I 1 1

| fafam 0 £, £

(1)
(2)
3)

9320, 10080
9660, 10060
10080, 10340
o

=0 b Aaibic ke

L

90, lfn“+h2+c2—ah-lu-_,.m:

(1)
(2)
(3)
(4)
(5)

GET IT ON
Google Play

ﬂl thEﬂ i h ' iR
) LR B |

I3 A |
R 1 |
1::1:2

Not attempted

The two numbers nearest to 10,000 which are
exactly divisible by each of 2, 3, 4, 5, 6 and 7 are ;

(1)
(2)
(3)
(4)
(5)

9320, 10080
9660, 10060
10080, 10340
9660, 10080
Not attempted

The sum of all proper fractions whose

dﬂ?mnﬁnmlm than or equal to 100 is :

[ 4
)
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H0-page manusecript

4 .r”a'-rﬂ Fm K arfy = L _.. -
g s " wEfif ) g T A0 G b og, A tnkes H hours to copy i

Fafh B 3 rAfaf @ g e T A A | 58 the same  manuscript  jn

EaL #1 ]f]{'b.!‘r'jl 1 T, r‘-"-_-lf?]f'l 1 Fi]

while B can copy '
W IR 3 hours, How many hours would it toke them g

- = -I-’ -y, . " L & * " ' 1]
feTa W T, gfz ar HEIRE oo I Ty B ? e similar 100-page manis cript, if they work

(1 9we together 7
5 ..

2 8= ue (1) 9 hours
i

@ 14 W \F 'L// (2) 511:5 hours

7

6 :

4 6= T (3} 14 hours
7

(3) I A 291 S (4) Gg hours

(5) Not attempled

§ @ fl 3 % = f w7 30,000 7 2 50,000
T A F S A FE T 16,000 A W &I 1|95, Two friends invested T 30,000 and T 50,000 in a

T H A WU FEH A gl watE ad business. They earned a profit of ¥ 16,000 at the
T 9T, I G & HgAE A Al v | v end of the year. One half of the profit was divided
- Em fae 2 jﬁf‘ﬁm ja)( I° equally between them and other half was divided
() 7 7.200, T 8,800 - ’?*f ',ué:a u;t:-:z ratio of their capitals. ITow much did each
ol them receive ¥
/I 7
) ¥ 7400, T 8,600 G We® () % 7,200, T 8,800
¥ % 7,500, T 8,500 &t a0 | {(2) T 7400, T 8,600
» ﬂu
AT 7,000, T 9,000 )IE A (3) T 7,500, T 8,500
r - (o]
5 3 T B ooy ! (4) T 7,000, % 9,000 ,
= a::
Mg (6) Not attempted

£ s . "
% T e 100 faft/azr <t 3fhom 9@ &
ik T 7 75 Rt & g 3 fire % fou =l (96, An express train travelled at ap average speed of

hmﬁ Fﬂ"ﬁ A 600 frt 7T 37 TR W R & 100 km/h stopping for 3 minutes after every

"'“Wm a2 ? Bj 7 k. How long did it take to reach the
. o9 ination 600 km A .

g 24&4@/ :-é"‘_; destination from the starting point ?

] - ,ﬂ‘;ﬁ (1) 6 hours 24 minuteg
R iz .
: (2) 6 hours 27 minuteg

&
Eﬁ:.'-" - - "-u
) - 30 figz - - (3) 6 hours 30 minuteg
fw
" “ qu—d\.ng" (4) 6 hours 21 minyteg
e
E.'M'-'lr:t T M '-a-m_ﬁ (5) Not attempted
B
—_—
D 1% @ & fero TUT | SPACE FOR ROUGH WORK
- el !_f"_f-r 12
rd e __@ . -g 7{:‘;4‘J ____‘T_-' "'-:-.-F' v
®_ ¢ _6 =l l"?’ o7 ’Q‘? @ Jy—y J2=x7
_jod ' 2 B 7 M
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97. ﬂf&m;r@ﬁm}ﬂlﬁﬂtmm}r, 97,

GET IT ON
Google Play

If a number x is 10% less than another number y

Y and v is 10% more than 125, then the value of x
l x ¥ “'Fk! ;

125 8 10% wfuw &, A oo »
(1) 140-65 | "{'] L ;

(1) 140556
(2) 143
{3) 150 (2) 143
4 1237 7 (3) 150
(5) A Z e (4) 12375

(5) Not attempted

a
98. ;“'ﬁﬁﬂmanmmhuwmaﬂ get:|gn.

The positive square root of

(7 g Lo
(1) 3 l—:ﬁ?ﬁf[i}r.}-ﬂﬂ'?ﬁ} +1] is:
gt (1 2
Vﬂ] 4
(2 3
4 1
(5) I A W ' @ 4
. 4 1
99. 15 ToW, 18 #fgemd 3 12 5% uw ww FW = (5) Not attempted
w fim 4 v 2070 W # | AR wE g, v HiEe

51 Y -
2 h 99. 15 men, 18 womén and 12 boys working togethe:
.. % S im‘ 5 -ﬁﬁ’, ﬁ earned ¥ 2070 in a day. If the daily wages of «

1 9, Hﬂaﬁaﬂt EMH‘@‘%‘!{? *) man, a woman and a boy are in the ratio o
l. : 4% 3 : 2 fthe daily wages (in ®) of 1 man
;‘w. i—“ﬂ . ; 1 Ewmenﬁnd 3 boys are :
2 205 s 1 ‘ (1) 180%
e 240
) 1856

Not attempted

__ dﬂtmm-ﬂlﬂdﬁd mﬂﬂiﬂnum&ﬂ (

~ such that A receives 25% more than B and |
receives 25% less than O, then O’ ghare i, -
e an SN
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